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SANSKRIT — HONOURS
Seventh Paper
(Course - 1II)
Full Marks : 50

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

Unit - T
(Marks : 30)
. IBAPE TR o] 10
(2) TEAAPYEANREIEHIN TeaiR qiivfeEnfor |emsRe fofaar Ay vearw Sfdaaargan
R HRT HAIAOE 3T TSIaqgoyaaEl wafd Fafa faemdam| 4+4+2
(b) = gEr I GO RN TR dfeaasdl SRl 3R dW wRed SHRaEargERo
HIgERT WTod $F 99 Wafd $F a1 9 9adita faemian| 2+6+2
. IR e SR RPNl AISTeRY SR | 10x1
() PFIRO PeT IEFH
(b) |E guil
(c) d= el
(d) faRwoi faRr=or Igov|
. et der JaHml 5x2
(a) STHSHTH
(b) &
Or,
. ORIy yeggw RusaR ye GHNAM GF GEpaUNdl GRS 9 dEHE|
(a) friféras -
(b) TGITETS:
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(c) ¥mafe:
(d) =
(e) JBI~d:
(f) gvsIEfvs|
Unit - 11T
(Marks : 20)
5. Answer any one of the following : 20x1

(a) What is the full form of IIr.? Mention the branch of Indo-European languages, to which the Vedic
and classical Sanskrit languages belong? Bring out the main points of difference between these two
languages.

(b) Write an informative note on the non-Aryan influence on Sanskrit language with suitable illustrations.

(c) What is meant by a ‘phonetic law’? Explain Collitz’s law or Verner's law with examples.




